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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark the correct choice on your answer sheet.

1- The book was -—-—--—- by a panel of experts, working in conjunction with the publisher.
1) revealed 2) compiled 3) intervened 4) attributed
2- In Canpada, drug users belong to high-risk insurance -—----—----
1) entities 2) features 3) categories 4) structures
3- The victim was able to give the police an ------- --- description of her attacker.
1) accurate 2) ultimate 3) identical 4) equivalent
4- The government passed a law to promote the --——-— of blacks into white South African
society. | |
1) integration 2) foundation 3) coordination 4) adaptation
5-  Smiall businesses often have great difficulty in —------— credit from banks.
1) detecting 2) obtaining 3) pursuing 4) depositing
6- Feminists say that the book was written from a male ———--—-,
1) objective 2) inspection 3) perspective 4) presumption
7-  Violence is just one of the many problems -—--—--— in city life.
1) explicit 2) empirical 3) available 4) inherent
8- Legal requirements state that working hours must not -——------ 42 hours a week.
1) assign 2) exceed 3) utilize 4) undertake
9- The Highways Department is responsible for the construction and -—-——--- of bridges and
roads.
1) equipment 2) adjustment 3) manipulation 4) maintenance
10- Maxwell’s responsibilities -----—- — yours, so you will be sharing some of the work.
1) overlap 2) affect 3) identify 4) coincide

| PART B: Grammar

| Directions: Read the following passage and decide which cheice (1), (2), (3), or (4)
l best fits each space. Then mark the correct choice on your answer sheel.

Since water is the basis of life, (11) -——----- - the greater part of the tissues of all living things, the
crucial problem of desert animals is to survive in a world (12) --------- - sources of flowing water are
rare. And since man’s inexorable mecessity (13) ---------- large quantities of water at frequent
intervals, (14) ---------- comprehend that many creatures of the desert pass their entire lives (15) -
------ a single drop.

11- 1) composes 2) composing 3) it composes 4) that composing

12- 1) which 2) that 3) there 4) Ta.rhf.:.ra a

13- 1) is to absorb 2) of absorbing 3) that is to absorb 4) is absorbing

14- 1) scarcely he can 2) he scarce can 3) he can scarcely 4) scarce can he

i15- 1){or 2) from 3) upon 4) without
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Part C. Reading Comprehension

Directions: Read the following passages and choose the best choice (1), (2), (3), or (4). Then mark
in on your answer sheet.

In the past, floodplain management measures in Australia were i
often only introduced afier a serious flood event had occurred,

which is called a reactive approach. Typically, such an approach

was limited in scope and effectiveness and did little to control the
ever-growing levels of flood hazard across the nation.

P AT dadd oyled oo Cpiz YU e

1) Flood events in Australia did not occur very often.
2) The old approach was not completely successful in controlling the level of flood hazards in
Australia

3) The Australian government could not measure all dimension of the flood plain because of serious
flood events

4) The government of Australia had limited sources to combat the ever-growing levels of flood
hazard across the nation.

Fadib oo o0 0310 W Hlie ploS 0uisS Cluegd pj alos VY
Land subject to inundation by the probable maximum flood event.

1) Maximum flood 2) Flood-prone land

3) Minimum flood < & 3 T 4) Flood warning system

45 aaegd olei o0 225 O ! -
Correlation in random variables should be introduced where
necessary by selecting the random variables in Monte Carlo
analysis using a system for generating correlated sets of variables
rather than using a system that generates independent sets of
variables. This practice is common in groundwater modeling
where correlated sets of hydraulic conductivities and other aquifer
properties are generated by Monte Carlo simulation. Similarly,
there is a long history of generating correlated random variables to
describe stream flow in a basin or region.

1) Groundwater modeling cannot be found in the history.

2) Monte Carlo simulation cannot be used for describing stream flow in a basin.

3) Independent sets of variables are not generated in groundwater modeling.

4) Only independent sets of variables should be used for correlation in random variables.

S gl g0 42K 5 (00
The living conditions today have surely improved to a great deal

due to industrialization and urbanization, but only at the cost of
environmental degradation.

1) The cost of living is very high today.

2) The industrial buildings are very expensive.

3) We have sacrificed our environment to enhance our living situation.
4) Our environment has been improved due to urbanization.
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Good science starts with clear definitions. In the case of =1

geographic information systems (GIS), however, definitions have
been somewhat hard to pail down. As a result, different
definitions have evolved over the years as they were needed.

151 ol & ylae ou ol s 4 3 A5 (slaedS B0l yie

1) Get agreement on 2) hammer
3) Very obvious 4) Part of a finger that grows daily

PaS o ) azal olgi oo 215 o5 )

There are some major physical differences between volcanism on
the Earth and on the Moon. First, lunar gravity is only one sixth
that of the Earth's, This means that the forces driving lava flow are
weaker on the Moon. Thus, the very flat and smooth mare surfaces
imply that mare lavas were very fluid. They could both flow very
easily and spread out over large areas. Also, the low gravity means
that explosive eruptions can throw debris further on the Moon than
on the Earth. Indeed, such eruptions on the Moon should spread
lavas out into a broad flat layer and not into the cone-shaped
features seen on the Earth. This gives one reason for why large
volcanoes are not seen on the Moon.

21.

1) Same volcanoes can be seen on the Moon and on the Earth.
2) Number of volcanoes on the Moon is one sixth of the Earth’s.
3) Explosive materials can be found on the Moon surface after so many years.

4) Cone-shaped volcanoes cannot be seen on the Moon, because the gravity of the Earth is six times
that of the Moon’s.

Most precipitation depends on water vapor carried by winds from

an ocean or other source of moisture. If these moisture-carrying

winds are replaced by winds from a dry region, or if they are

modified by downward motion, as in the center of an anticyclone,

the weather is abnormally dry and often persistently cloudless.
The main idea of the text is :

22,

1) How drought conditions develops in a region.
2) It describes the mechanism of development of the oceans.
3) Winds, in dry regions, cannot carry moisture from the sources of moisture.

4) Cloudiness is a common phenomenon that exist in the center of anticyclones.
23.

Drought is a period or condition of unusually dry weather within a
geographic area where rainfall is normally present. During a
drought there is a lack of precipitation. Droughts occur in all
climatic zones. However, its characteristics vary significantly
from one region to another.

It can be concluded from the text that:
1) Durning drought period rain falls vertically.
2) Even before or after drought conditions there is no rainfall in the area.
3) Before or after drought conditions, it is usually expected to have rainfall in the area.
4) Drought conditions occur where we have only dry weather in that region.



24.

25,

26,

¥ axiuo (AYFY oS ) oSl )

A natural disaster is the consequence of a natural hazard (e.g.
volcanic eruption, earthquake, landslide) which moves from
potential into an active phase, and as a result affects human
activities. Human vulnerability, exacerbated by the lack of
planning or lack of appropriate emergency management, leads to
financial, structural, and human losses. This understanding is
concentrated in the formulation: "disasters occur when hazards
meet vulnerability". A natural hazard will hence never result in a
natural disaster in areas without vulnerability, e.g. strong
earthquakes in uninhabited areas. The term natural has
consequently been disputed because the events simply are not
hazards or disasters without human involvement.

It can be concluded from the text that :

1) Landslide always leads to loss of human.

2) A strong earthquake is always considered as a natural disaster.

3) Eruption in a populated area is not considered a natural hazard.

4) In the absence of the emergency management a natural hazard may result in natural disasters.

An earthquake is a shaking of the ground caused by the sudden
dislocation of material within the earth's outer layer, or crust.
When forces pushing on a mass of rock overcome the friction
holding the rock in place and blocks of rock slip against each other
an earthquake may occur. Some earthquakes are S0 slight, and
some occur in such remote areas, that they are barely felt. Others
are so violent that they cause extensive damage.

Based on the text, which of the following sentences is not true?

1) The friction force plays a vital role in occurrence of an earthquake.

2) A slight earthquake usually does not result in a sever damage.

3) A slight earthquake means that the movement of the material within the earth’s crust or outer
layer occurs slowly.

4) There is a relationship between the distance from the earthquake and the damages to the
properties in an urban area.

On January 17, 1994, a fairly moderate earthquake struck a northwestern suburb of Los
Angeles. Suddenly, the city of Northridge became well-known to structural engineers around
the country and, indeed, the world. The earthquake struck at 4:30 A.M. on a Monday morning.
The early morning time frame helped to minimize loss of life. The damage was widespread,
ranging from homes, apartments, highways and bridges, to utilities, gas lines and buildings.
The three-story apartment buildings that sustained the most severe damage typically consisted
of a ground level garage, second-story living quarters and third-story bedrooms. The lack of

lateral bracing around garage door openings may prove to be the most significant structural
deficiency. |

Based on the text, which of the following sentences is not true?

1) Most of homes did not have garage doors at the time of earthquake.

2) Most of people were at work when the earthquake jolted the city of Northidge.

3) Downtown of Los Angeles city was damaged severely on January 17, 1994 at 4:30 AM.

4) Since at the time of earthquake, less people were on the streets and bridges, the death toll was not
so high.
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The_:uuntriﬂs are gradually shifting from disaster response to a more proactive approach
to disaster management. This is becoming evident also in the demand for Inter-American

Development Bank (IDB) funding. Between 1996 and 2002, the Bank committed $3.2
billion to disaster }'E]H’Eﬂd financing. The analysis of loan portfolio shows that some 41
percent of the project cost has been related to prevention and mitigation, 6 percent to

emergency response through the Bank's Immediate Response Facility and 53 percent to
rehabilitation and reconstruction.

It can be concluded from the text that :

1) Countries gradually spend more money for disaster response.

2) Disaster management has received less attention in recent years.

3) Analysis of IDB documents shows that the least fund was allocated for emergency response.
4) About $1.7 billion was allocated by IDB between 1996 and 2002 for the emergency response.

Two National Programs for Capacity Building in Earthquake Risk Mitigation for
Engineers and Architects respectively, have been approved to assist the State
Governments in building capacities for earthquake mitigation. These two programs are
being implemented for training of 10,000 engineers and 10,000 architects in the States in
seismically safe building designs and related techno-legal requirements. Assistance is
being provided to the State/Universities to build the capacities of more than 125 State
Engineering Colleges and 110 Architecture Colleges to be able to provide advisory
services to the State Governments to put in place appropriate techno-legal regime,
assessment of building and infrastructures and their retrofitting. These institutions will
function as State Resource Institutions.

It can be concluded from the text that :

1) Only civil engineers and architects are involved in building design.

2) About 125 college students will be trained under National Programs.

3) Two national programs try to build earthquake resistance structures.

4) Trained engineers and architects can help state governments for earthquake risk mitigation.

Awareness generation

People who are vulnerable to disastrous conditions should be informed properly. Apart from the use of
print and electronic media, it is proposed to utilize places with high public visibility viz. hospitals,
schools, railway stations and bus terminals, airports and post offices, commercial complexes and

municipality offices etc. to make people aware of their vulnerabilities and promote creation of a safe
living environment.

A novel method being tried is the use of government stationery viz. postal letters, bank stationery,
railway tickets, airline boarding cards and tickets etc. for disseminating the message of disaster risk
reduction. Slogans and messages for this purpose have already been developed and have been
communicated . to concerned Ministries/agencies for printing and dissemination. The mass media
campaign will help build the knowledge, attitude and skills of the people in vulnerability reduction and
sustainable disaster risk management measures.

It can be concluded from the text that :

1) When people buy a railway ticket, the seller may advise them to be prepared for disaster risks.
2) People who travel by air plane they may be exposed to messages about disaster risk reduction.
3) A new method being used recently is the use of post officer to tell people about disaster risk
reduction.

4) Print and electronic media are no longer used to make people aware of their vulnerabilities to
disasters.



30.

y dxiuo (YFY &) oSl b3

—

a5 b )8 Az olei oo 33 0% )
The Government of India has adopted mitigation and prevention as essential components of
their development strategy. The Tenth Five Year Plan document has a detailed chapter on
Disaster Management. The plan emphasizes the fact that development cannot be sustainable

without mitigation being built into developmental process. Each State is supposed to prepare
a plan scheme for disaster mitigation in accordance with the approach outlined in the plan. In
brief, mitigation is being institutionalized into developmental planning

1) Each province of India is expected to have a disaster mitigation plan which is in line with Tenth
Five Year Plan.

2) The government of India has asked private sectors to be involved in disaster management plan.
3) Several institutions have been established after approval of the Tenth Five Year Plan.

4) The Tenth Five Year Plan of India has been prepared by several States.
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